ERREBRODHHIHEZFICLHIRERBD—

(FRABZFEL (35 H]))

REMBES FR RrfEig | A

HTML/CSS 14 30 1
Linux 1 30 1
Python | 15 90 3
Python Il 1F 60 2
—ZR—=2 | 14 30 1
Python7 L — L7 — 7 15 120 4
7 77 FET 15 60 2
Java 15 60 2
AlvZoRr70r7iv0 1% 60 2
TR YA TR 1% 60 2
S A= R AN 1% 60 2
Y — /R 14 60 2
JavaScript 1% 60 2
Javaz L —L7T7—7 24 90 3
TFT—aZR=2 2% 60 2
TV v A IVERF 2 30 1
F7Y 0 MEEDITERET 24 90 3
ZRZEHIE | 24 90 3
ZEZEHIE I 24 90 3
ZEZEFIENN 24 150 5
Javav A 7 LEF 24 120 4
Siw T 7 R AT LEFE | 2% 60 2
WRz2E R0 2% 60 2
Al X7 LEF | 2% 120 4
Ty b7 — U REE | 2% 120 4
Xzl T4EH 2% 60 2
ENALT TR 3F 150 5
w7 0o IV IEE | 3% 120 4
ZEEEHIE 3F 90 3
=E 2280 76




